Chapter 5

I. Free Trade vs. Actual Trade Policies

A. “Protectionism”: efforts by governments to protect industries from competing imports.  Some methods are:

1.  Tarriffs:  a tax (or “levy”) on imported goods of a specified type or national origin.  Domestic producers benefit.  Domestic consumers of the good lose out, as they have to pay higher prices, and foreign producers lose sales.

a. How “Elasticity” affects the burden of the tariff.

Elasticity is the change in Quantity that results from a Change in Price.  A steep demand curve is called inelastic.  In this diagram, the higher price after the tariff is largely absorbed by the consumers, and quantity does not fall much.  This is characteristic of goods which are viewed as necessities or have few substitutes.



b.  On the other hand, with an “elastic” Demand curve, which is flatter, has a significant decline in quantity demanded for just a small increase in price.  These sorts of goods are viewed by consumers as strictly optional purchases, and have many available substitutes.  In this case, the burden of the tariff is mostly on the foreign producer, while in the inelastic case, most of the burden is on the domestic consumers.



c.  Another party that may lose out is other domestic businesses in related industries.  For example, the steel tariffs imposed in the last few year saved jobs in the U.S. steel industry but cost more jobs in industries that were relying on (now higher-priced) steel.



d.  Another party that benefits is the government, which collects more tax revenue in the form of the tariff, and even more revenue correlating with the improved fortunes of the domestic producers in the protected industry.


2. Quotas

A maximum quantity of imports allowable for a certain good.  This has the same effects as a tariff, and is equally dependent on demand elasticity to determine where the burden predominantly falls, but a big difference is the lack of tax revenue relative to a tariff.

3. Embargoes 

A prohibition against importation of a country’s goods.  While other protectionist measures are usually responses to economic conditions (like a flood of inexpensive imports of a certain type) the embargo is usually a response to a political situation.  It is a condemnation that sends a message to a foreign government, and may be accompanied by restrictions on the types of goods that will be legal for export to that country.

4. “Rational Ignorance”

The question is raised, why would domestic consumers accept quotas and other government-maintained distortions in goods prices (like agricultural subsidies) when they result in higher market prices, to the benefit of some producers.  “Rational Ignorance” argues that when benefits are concentrated (in this case, in the profits of producers) and losses are spread thin across the population, it is not seen as worth people’s time to resist the protectionist measures.

The same principle is at work when the losses are concentrated in certain industries, where there is an intense motivation to advocate for protectionism, while the society at large enjoying somewhat lower prices is “rationally ignorant” in finding it not worth their time to resist the protectionist proposals.

B. Rationales for Protectionism

1.  Infant-Industry

a.   A new industry cannot compete with its counterpart in a nation in which that industry is mature.  Problems with this argument include:

b. The difficulty in removing protections once the industry is clearly mature.  By that time, the company may have accumulated some political influence, and its employees may be great in number and important constituents of elected officials.

c. Also, direct subsidies are preferable because they make clear what it is costing to support the industry.  

d. Finally, the government, in selecting which new industries to support and which to ignore, is making a business judgment about industries and their future viability, which may just result in collapse whenever the protections are withdrawn.

2. National Security

Defense goods should be made domestically for security reasons.  One problem is this eliminates the possibility of trading with a country that has a comparative advantage over the U.S. in producing certain defense goods.  In order to make firms produce in a less than maximally efficient way, either protections or direct subsidies may be required.  Again, for their transparency, economists generally favor subsidies over tarriffs.

3. Inexpensive Foreign Labor

U.S. producers in many industries cannot be cost-competitive with foreign producers due to especially low labor costs.  Economists’ responses to this argument are:


a.  In many cases, higher wages reflect a higher productivity level.  In microeconomics, one of the methods to analyze whether a firm is maximizing profits is if it is minimizing costs, which can be shown by an (hourly) wage that is equal to the value (in additional revenue) of the last hour of labor hired by the firm.  The firm will continue hiring labor until this condition holds, and the equation is written as W=MRP meaning Wage rate= Marginal (additional unit of) Revenue Product (produced, by labor in this case).


b.  If a labor-intensive country can make the same good for less, then it’s inefficient for American firms to stay in the industry.


c.  Resources to protect a failing industry would be better used to grow an industry that can compete in the world market.

d. Strictly looking at wages ignores productivity disparities, which have significant impact on per-unit costs.

4.  Macroeconomic Employment or “Beggar-thy-Neighbor”

This argument is based on the concept that the U.S. could use protectionist policies to “export” some unemployment.  

a.  One problem is retaliatory tariffs (trading partners respond with protectionist policies of their own that restrict U.S. exports) which could stir up a back and forth buildup of such policies, a situation known as a “trade war.” 

b.  Also the policy here is enacted in response to a slowdown in the U.S. economy (which caused the unemployment the protectionist policies are meant to solve) so it’s likely that the Fed will be enacting expansionary monetary policy and the government some expansionary fiscal policy, all of which stimulate demand and will encourage domestic producers to increase output.  The problem is that a distortion has been introduced where U.S. firms are specializing not so much based on comparative advantage but on what industries have the tariff or quota protections, so this introduces some inefficiency.

5.  Retaliation for another country’s protectionist policies.

This argument states that trading nations can be compelled to lower barriers by enacting protections with the message they will be removed when our trading partner removes their own protections, or stops “dumping” – flooding the U.S. market with inexpensive imports.


a.  While domestic producers suffer from “dumping,” this dramatic increase in supply means lower prices for domestic consumers.

6.  Protecting Declining Industries

This is based on a similar logic as the Infant-Industry argument, and is subject to some of the same flaws, such as the government’s need in this situation to identify which industries are worth supporting with an eye toward their future viability.

II Trade Agreements


A.  GATT (General Agreement on Trade and Tarriffs) is an agreement between over 100 countries to phase out trade restrictions.  The WTO (World Trade Organization) replaced GATT in 1994 and called upon the liberalization of trade in developing countries in addition to the developed nations.  The WTO  provides a forum for dispute settlement and legitimizes retaliatory tariffs as punishment for a country that is found to have implemented tariffs unjustifiably.


B.  Types of Regional Trade Agreements

Free Trade Agreement – Phase out tariffs and other protections against trade among member nations

Customs Union – Free trade among member nations and a system of common tariffs for non-member imports



Ex: Mercosur is the Customs Union formed by several major South American countries

Common Market – Free trade, common tariffs, and free movement of capital and labor among member nations

C. NAFTA – North American Free Trade Agreement called for trade between Canada, the U.S., and Mexico to be free from tariffs by 2008, 15 years from the signing in 1993.  The FTAA, or Free Trade Area of the Americas is a proposal to expand free trade to include South America, but has not been ratified and negotiations are sporadic but ongoing.

D. The future of free trade - while trends towards greater transnational trade are viewed by economists as an overall positive development, other possibilities for the future include:

1.  Regional trading blocs that raise protections against non-members

2.  A return to command economies


Both these possibilities will limit world production and consumption because they rely on principles other than comparative advantage to determine division of resources.  The command (central planning) economy, for instance, is much more prone to base trading relationships on political considerations than the more purely economics-oriented market actors.

III. A Bird’s Eye View of Chapter 5

A. It may seem that all the above is not what you see in Chapter 5. That’s because by going into Rationales for Protectionism and the fundamentals of world trade including its key institutions, now the topics on pages 117-119, Tariffs and Quotas, are fully applied to the real world. 
As we now turn to the topics more immediately evident as part of Chapter 5, Price Floors and Ceilings, it’s interesting to think of why these are in the same chapter as the Pandora’s Box opened above. All the situations in this chapter entail a manipulation of S&D. In other words it’s something other than a purely market–based result. Something has prevented the free market result – the government. But while Tariffs and Quotas are International Economics issues, Price Floors and Ceilings are more generally discussed in a purely Domestic sense. After you read about these two types of Price Controls, analyzing the Third-Party-Payer Market on your own should be okay (note the key aspect of a co-pay in this model). 
IV.  Equilibrium

A. Equilibrium

 The equilibrium price/quantity point will prevail in the market so long as there is no artificially set “floor” or “ceiling” for prices.  As long as there are “flexible prices” equilibrium will prevail.  If the market is determining the prices, not the laws of federal, state, or local governments, there will not be either accumulating inventories associated with excess supply nor shortages, where there is not enough of the good for the consumers, that are associated with “excess demand”.

B. Other assumptions besides a lack of price controls include:

(1)
Full information – buyers and sellers are aware of the relevant market conditions.

(2)
Expectations of constant prices – this relates to the ceteris paribus assumption in that everything is held constant in order to analyze the effect of a specific change on the market price and quantity.  If consumers believe prices will rise in the next time period, they will stockpile that good.

(3)
Free entry to and exit from markets – buyers and sellers voluntarily participate, and are free to exit the market at any time.

(4)
Self-interested market participants – firms seek to maximize profits while consumers seek to maximize utility.

(5)
No Collusion – Collusion, or cooperative between the number of buyers or sellers has the effect of monopoly power in the market.  Prices can become artificially distorted due to non-atomistic market participants.  In essence, the producers are getting together and acting like a single monopolist, or if it were the buyers colluding it would be as if they are wielding the power of a monopsonists (single-buyer).  

If any of the above are not met, the actual market P&Q may differ from the P&Q determined by the intersection of S&D on the graph.

V. Disequilibria caused by Price Controls

A)
The price ceiling example:  rent controls.

A price ceiling is set below equilibrium price.  A price floor is set above the equilibrium price.  One price ceiling is the rent control legislated by a number of municipal governments.  Beginning with a standard demand-supply diagram for the housing market, and drawing a horizontal line below intersection (equilibrium price) it is clear that the quantity demanded at the price ceiling is higher than it was at equilibrium (more people seek the lower-price housing than the equilibrium-priced housing) while quantity supplied is lower than it was at equilibrium (fewer landlords are willing to rent at the lower cost).  The result is a housing shortage (excess demand in the housing market).  

Short-Run vs. Long-Run

The book also has a rent control example where supply is vertical.  This is more realistically a depiction of short-term conditions in the housing market, that is, the market immediately after rent controls are first imposed.  That is why a vertical (no change in quantity) supply curve is depicted; suppliers in the short-term have a fixed amount of rental space and no choice but to comply with the new price ceiling.

In the long-term, however, the upward-sloping, standard supply curve is the more realistic because the quantity of the housing units is not exactly fixed – it can fluctuate for a variety of reasons, all of which landlords (housing suppliers) will be tempted to pursue in order to make less money at the new, lower rental rates.

(1)
Housing will be converted to other uses in order to avoid the rent control laws.  In NYC, co-ops, condos, and expensive apartments are not controlled.

(2)
Normal maintenance and repairs will decrease or disappear, resulting in slums.

(3)
Buildings may be simply abandoned.  

Black market activity, enforcement, and beurocracy:


As all of these factors are reflected in the decrease in quantity supplied in the housing market, another factor is bridging the gap between the would-be renters who cannot find housing and the suppliers trying to avoid rent controls: black markets.  The illegal market for housing could manifest in direct “under-the-table” payments form renters to landlords, or sub-leasing at higher rates where the renter who is lucky enough to have leased the below-market price housing unit leasers their space to a renter who is willing to pay more than the price ceiling.

These problems are costly for city governments to oversee and require an entire set of evolving legislation and policing in order to keep to a minimum.  Another cost incurred due to the price ceiling is the time spent by prospective renters searching for the low-priced housing that is really not available. This is excess demand.

B. Minimum wage example:  Price Floor.  


One of the most interesting things about the standard minimum wage model presented in an Intro-to-Macro class is that it doesn’t apply to most workers (yet the graph shown to you looks like it does – it’s a graph of the labor market, meaning all workers in the U.S.) Just as important, this fallacy of the model is easily correctable.


First to see why the standard model, graphing all Labor supplied (by workers) and all Labor demanded (by firms) with Quantity of Workers measured Horizontally and Wage (what workers call their Price) is on the Vertical axis. Where S&D cross gives equilibrium P&Q, as always. The minimum wage is a price floor. For a floor to be effective, it must be set above the ceiling. Otherwise it is non-binding. It has no effect. 
To show why, try drawing the line (price floor) below equilibrium. Now ask yourself how many workers are demanded, and how many supplied? Equilibrium for the whole workforce is numerically going to be “average wage.” What is the average hourly wage? It is $19/hour and change according to the BLS in ’06. So on the vertical axis, try putting 19 on the vertical axis, right at the level S&D cross. Now draw the minimum wage line at an appropriate level, like $6. (It went up .70 to 5.85 in July 2007). Now try to find a reason P or Q would change in this market due to the imposition of a minimum wage. 

The modification that makes this a more realistic and binding price floor is to not take the entire Labor force, but to take in your graph only the market (D&S) for unskilled labor. These entry-level laborers may well be affected by a minimum wage. Draw your labor market again, but this time label the vertical level where S&D cross as their free market wage of say $4/ hour. Now draw the min. wage line at $6/ hour. Describe and show graphically how this is a binding minimum wage in that P and Q have been affected by its imposition.
